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QUESTION 1

What is one way that HPE Synergy helps customers reduce costs?

A. It reduces over-provisioning by allowing the redefinition of resources for current needs.
B. It allows customers to shift from a traditional workplace to a more efficient open office.
C. It permits customers to move expensive analytics away from the core to the edge.

D. It helps customers identify the legacy hardware that consumes the most power.

Correct Answer: A

QUESTION 2

Which benefit can customers obtain from an HPE Intelligent Workspace solution?
A. increased facilities ROI and improved productivity

B. reduced application provisioning time and enhanced DevOps

C. lower storage TCO and faster insights from analytics

D. reduced overprovisioning in the data center and lower TCO

Correct Answer: A

QUESTION 3

When designing and architecting a solution based on customer requirements, which of the following is necessary?
A. Qualifying the customer requirements

B. Selecting the right HPE and 3rd party products and services

C. Documenting customer intent

D. Planning the solution design

Correct Answer: A

QUESTION 4
In talking to your customers, what would suggest an HPE Hybrid IT opportunity?
A. The customer wants to know if better collaboration tools will improve employeeproductivity.

B. The customer is interested in updating their wired and wireless network to include a unified management solution.
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C. The customer wants to implement user-based access to prevent unauthorized users from gaining access.
D. The customer has been trying to automate their infrastructure but is seeing few results.

Correct Answer: D

QUESTION 5

What is often the result of maintaining traditional development cycles?
A. Operating costs and overhead decrease.

B. Collaboration becomes more efficient.

C. IT moves from a support role to a business role in the company.

D. Line-of-Business (LoB) managers create their own stealth IT projects.

Correct Answer: D
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